- The answers to the lectures of Semana 8 devem ser entregues na primeira aula a seguir às férias da Páscoa.  
 - The answers should be manuscript (not typewritten) and preferably based on schemes (as I do in the whiteboard). Keep a copy for yourself.
Please mention “SEMANA 8” in bold at the beginning of your answers.

Aula 15: The effects of an eventual increase in inflation in Japan + How an increase in inflation may be engineered
1.What was the average inflation rate in Japan in 1995-2011?

2. “Higher inflation would boost the ability of Japanese firms to pay down their debts”. Do you agree? Explain.

3. “Higher inflation will boost stock and commercial land prices”. Do you agree? Explain.

4. “Higher stock and commercial land prices will promote the restoration of the balance–sheets of Japanese companies” . Do you agree? Explain.

5. “Given a fixed nominal interest rate, the higher the inflation is, the greater is the benefit from saving”. Do you agree? Explain.

6. “Given a fixed nominal interest rate, the higher the inflation is, the greater is the incentive to get credit to anticipate the purchase of durable consumption goods”. Do you agree? Explain.
8. “Given a fixed nominal interest rate, the higher the inflation is, the greater is the incentive to get credit to finance investment projects”. Do you agree? Explain.

9. “Given a fixed nominal interest rate, the higher the inflation is, the greater is the incentive of a firm to finance investment projects with internal funds ”. Do you agree? Explain.

10. What is the relation between the nominal interest rate, the real interest rate and the inflation rate?

11. Summarize the various reasons why an increase in the rate of inflation leads to:


a) Less money being pulled out from the economy.

b) More money being pumped into the economy.

12. “If Japanese inflation increases, the chronic tendency for a recessive spiral will diminish”. Do you agree? Explain. 

How inflation may be increased
13. “If the BoJ announces that it will increase the inflation rate, and that as a result the public believes that inflation will actually rise, inflation will end up rising.”  Do you agree? Explain.

14. Why may it be difficult to raise inflation expectations in Japan today?
15. “If the public does not believe that the BoJ can increase inflation, the BoJ will be unable to increase it”. Do you agree? Explain.

16. Suppose that the BoJ publicly asserts that it has no tools to increase inflation right now, but that when inflation eventually rises it will keep interest rates at zero and let inflation rise.


a) What may eventually bring inflation up?

b) Would that strategy be effective in raising inflation today? Explain.

17. a) Explain the two different tools Central Banks can use to depreciate their own currencies.
b) Only one of those tools can be used today by the BoJ. Which one? Why?

18. Depreciation can increase the inflation rate through two types of channels. Which ones? Explain.

19. Será o Japão realmente capaz de depreciar a sua moeda? Justifique.

20. Explain how the announcement in June 1999 that Japan was going to depreciate its own currency backfired.

Aula 16: How an increase in inflation may be engineered
21. a) De que forma é que o QE poderá reduzir a taxa de juro do crédito à habitação e ao investimento?

b) Se isso acontecer, qual será o efeito sobre a procura agregada? Justifique.

c) E sobre o stock de moeda? Justifique.

d) E sobre a inflação? Justifique.

22. Um aumento da quantidade de moeda que esteja associado aumento da procura agregada até ao pleno emprego não provoca um aumento da inflação.


a) Porquê?


b) Se não é a inflação, que variável corresponderá ao aumento da procura de bens e serviços associado ao aumento da moeda? Justifique.

23. Why does a decrease in unemployment below the NAIRU may lead to an increase in inflation?

24. How could the Japanese government use the setting of wages of the civil servants as a way to increase inflation?
25.Who has financed Japan´s budget deficits over the last two years? Explain with the aid of a scheme.

26.a)If Japan did not have its own Central Bank, what could have happened to the interest rates of its public debt? Explain.

b) What has actually happened to the interest rates of Japan’s public debt? How do you explain that fact.

27. a) Por que é que um ambiente de deflação tende a reduzir o investimento?

b)  “Deflation may have been one of the causes that led firms to use their profits to pay down their debts”. Do you agree? Support your explanation with facts.

28. Explique a diferença entre uma insolvência típica e a insolvência das empresas japonesas a seguir ao rebentamento da bolha no Japão.
